
                 Assembled Parts List
 1 Right Plastic Leg Wing™ Deflector
 1 Left Plastic Leg Wing™ Deflector
 2 Right L Brackets
 2 Left L Brackets
 2 Top Arm Brackets
 2 Bottom Arm Brackets

 8 Black Plastic Screws
16 Small Black Plastic Washers
 8 10-24 Cap Nuts
 8 White Acetal Washers
 4 Large Steel Flat Washers
 4 1/4-20 Cap Nuts
 4 1/4-20 x 5/8" Bolt
 4 White Curved Plastic Washers

             Packaged Parts List
6 Black Plastic Screws (2 for replacements)
4 10-24 Cap Nuts
4 Small Black Plastic Washers
2 1/4-20 x 1" Cap Screws
2 1/4 - 20 Cap Nuts
2 1/4" Flat Washers

            Mounting Hardware Parts List
1 Right Flat Plastic Bracket with locator guide
1 Left Flat Plastic Bracket with locator guide

LEG WINGS™ (Foot Coolers)
for all CAN-AM Spyder RT’s Installation and Parts List Sheet

Please Save For  
Future Reference!  

    Replacement parts are available from the Manufacturer.           

ONE YEAR LIMITED WARRANTY - BAKER BUILT™ AIR WINGS™ air deflectors are guaranteed against defects in material and workmanship
for one (1) year from date of purchase.  At our discretion and subject  to inspection, BAKER BUILT™ AIR WINGS™, INC. will repair or replace
the defective part/s at no charge, except shipping and handling cost.  Return defective part/s to BAKER BUILT™ AIR WINGS™, INC. along with
dated sales receipt.
        Warranty is limited to replacement of AIR WINGS™ air deflectors or parts therefor and does not cover any consequential damage that
may have occurred to cycle or fairing.
        Damage to AIR WINGS™ air deflectors resulting from accidents, misapplication, or abuse, is not covered by this warranty.

BAKER BUILT™ AIR WINGS™, INC.
11877 Walnut Grove Church Rd., Ohio City, Ohio 45874

Phone: 1-800-451-WING(9464) or (419) 965-2646       FAX: (419) 965-2646

www.bakerbuilt.com              e-mail: info@bakerbuilt.com SPY-RT-LEG-315


